
	DATE:                                 NAME:                                                                                                                                                                          CLASS:

Date:
Name:
Class:

Date:
Name:
Class:



	TOPIC 3.3
	Investigation 3-F: More Specific Heat Capacity Calculation Problems
	BLM 3.3-11

	
	
	


Study the sample problem in Investigation 3-F to understand how to perform specific heat capacity calculations. Then solve the practice problems below.
1. A 25 g steel ball and 25 g of water are both at room temperature (20.0°C). 

a) How much heat is required to raise the temperature of the water to 30.0°C?
b) If the same amount of heat was absorbed by the steel ball, what would its final temperature be?
	


2. 3.2 × 104 J of heat raised the temperature of 375 g of a clear liquid by 35°C. Was the liquid water or ethanol?
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3. a) How much heat is needed to increase the temperture of 1.00 g (approximately 1 mL) of water by 15°C?
b) If 1.00 L (1000 mL) of dry air (1.225 g) absorbed the same amount of heat as the 1.00 g of water, by what amount would the temperature of the air increase? 
	


4. a)  How much heat is required to increase the temperature of 1.50 kg of dry soil by 25°C?
b) If the same amount of heat was absorbed by the same mass of wet soil, by how much would the temperature increase? 
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5. A quantity of powdered aluminum (c = 0.897 J/g·°C) at a temperature of 95°C was added to a cup (250 g) of water at 23°C. After a short time, they reached a temperature equilibrium at 27°C. What was the mass of the aluminum that was added to the water?
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